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Problems on Age

1. Father is aged three times more than his son
Ronit. After 8 years, he would be two and a
half times of Ronit's age. After further 8 years,
how many times would he be of Ronit's age?

firk dh vk;q mlds iq=k jksfur ls rhu xquk vf/d gSA 8
o"kZ ckn mldh vk;q jksfur dh vk;q dh <kbZ xquh gks
tk,xhA vxys 8 o"kZ ckn] og jksfur dh vk;q dk fdruk
xquk gksxk\
(a) 2 times (b) 3 times
(c) 4 times (d) 1 times

2. Sum of ages of 5 children born at the intervals
of 3 years each is 50 years. What is the age of
the youngest child?

3 o"kZ ds varjky ij iSnk gq, 5 cPpksa dh vk;q dk ;ksx
50 o"kZ gSA lcls NksVs cPps dh vk;q D;k gS\
(a) 4 years (b) 8 years
(c) 10 years (d) None of these

3. A father said to his son, "I was as old as you
are at the present at the time of your birth".
If the father's age is 38 years now, the son's
age five years back was:

,d firk us vius iq=k ls dgk] rsjs tUe ds le; esjh mez
mruh Fkh ftruh rqEgkjh vkt gSA ;fn firk dh vk;q vHkh
38 o"kZ gS] rks ik¡p o"kZ igys iq=k dh vk;q Fkh%
(a) 14 years (b) 19 years
(c) 33 years (d) 38 years

4. Six years ago, the ratio of the ages of Kunal
and Sagar was 6 : 5. Four years hence, the
ratio of their ages will be 11 : 10. What is
Sagar's age at present?

Ng o"kZ igys] dq.kky vkSj lkxj dh vk;q dk vuqikr 6
% 5 FkkA pkj o"kZ ckn] mudh vk;q dk vuqikr 11 % 10
gksxkA orZeku esa lkxj dh vk;q fdruh gS\
(a) 16 years (b) 18 years
(c) 20 years
(d) Cannot be determined

5. The present ages of three persons in
proportions 4 : 7 : 9. Eight years ago, the sum
of their ages was 56. Find their present ages
(in years).

rhu O;fÙkQ;ks a dh orZeku vk;q dk vuqikr 4 % 7 % 9 gSA
vkB o"kZ iwoZ mudh vk;q dk ;ksx 56 FkkA mudh orZeku
vk;q (o"kks ± esa) Kkr dhft,A
(a) 8, 20, 28 (b) 16, 28, 36
(c) 20, 35, 45 (d) None of these

Problems on Age/vk;q laca/h iz'u
( Practice Sheet With Solution)

6. Ayesha's father was 38 years of age when she

was born while her mother was 36 years old

when her brother four years younger to her

was born. What is the difference between the

ages of her parents?

tc vk;'kk dk tUe gqvk rc mlds firk dh mez 38 lky
Fkh] tcfd mlls pkj lky NksVs HkkbZ ds iSnk gksus ij
mldh eka dh mez 36 lky FkhA mlds ekrk&firk dh vk;q
ds chp dk varj fdruk gS\
(a) 2 years (b) 4 years

(c) 6 years (d) 8 years

7. The age of father 10 years ago was thrice the

age of his son. Ten years hence, father's age

will be twice that of his son. The ratio of their

present ages is:

10 o"kZ iwoZ firk dh vk;q mlds iq=k dh vk;q dh rhu xquh
FkhA nl o"kZ ckn] firk dh vk;q mlds iq=k dh vk;q dh
nksxquh gksxhA mudh orZeku vk;q dk vuqikr gS%
(a) 5 : 2 (b) 7 : 3

(c) 9 : 2 (d) 13 : 4

8. Q is as much younger than R as he is older

than T. If the sum of the ages of R and T is 50

years, what is definitely the difference between

R and Q's age?

Q] R ls mruk gh NksVk gS ftruk og T ls cM+k gSA ;fn
R vkSj T dh vk;q dk ;ksx 50 o"kZ gS] rks fuf'pr :i ls
R vkSj Q dh vk;q ds chp fdruk varj gS\
(a) 1 year (b) 2 years

(c) 25 years (d) Data inadequate

9. A person's present age is 
2

5
 of the age of his

mother. After 8 years, he will be one-half of

the age of his mother. How old is the mother

at present?

,d O;fÙkQ dh orZeku vk;q mldh ekrk dh vk;q dk

2

5
 gSA 8 o"kZ ckn mldh vk;q viuh ekrk dh vk;q dh

vk/h gksxhA orZeku es a ek¡ dh mez fdruh gS\
(a) 32 years (b) 36 years

(c) 40 years (d) 48 years
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Problems on Age

10. What is Sonia's present age?

lksfu;k dh orZeku vk;q D;k gS\
I. Sonia's present age is five times Deepak's

present age.

lksfu;k dh orZeku vk;q nhid dh orZeku vk;q dk
ikap xquk gSA

II. Five years ago her age was twenty-five times
Deepak's age at that time.

ik¡p o"kZ igys mldh vk;q ml le; nhid dh vk;q
dk iPphl xquk FkhA

(a) II alone sufficient while I alone not
sufficient to answer

II vdsys i;kZIr tcfd I vdsyk mÙkj nsus ds fy,
i;kZIr ugha gwa

(b) Either I or II alone sufficient to answer

;k rks I ;k II vdsys mÙkj nsus ds fy, i;kZIr gSa
(c) Both I and II are not sufficient to answer

I vkSj II nksuks a mÙkj nsus ds fy, i;kZIr ugha gSa
(d) Both I and II are necessary to answer

mÙkj nsus ds fy, I vkSj II nksuks a vko';d gSa
11. Divya is twice as old as Shruti. What is the

difference in their ages?

fnO;k dh mez Jqfr ls nksxquh gSA mudh vk;q esa fdruk
varj gS\
I. Five years hence, the ratio of their ages

would be 9 : 5.

ikap o"kZ ckn] mudh vk;q dk vuqikr 9 % 5 gksxkA
II. Ten years back, the ratio of their ages was

3 : 1.

nl o"kZ igys] mudh vk;q dk vuqikr 3 % 1 FkkA
(a) II alone sufficient while I alone not

sufficient to answer

II vdsys i;kZIr tcfd I vdsyk mÙkj nsus ds fy,
i;kZIr ugha gwa

(b) Either I or II alone sufficient to answer

;k rks I ;k II vdsys mÙkj nsus ds fy, i;kZIr gSa
(c) Both I and II are not sufficient to answer

I vkSj II nksuks a mÙkj nsus ds fy, i;kZIr ugha gSa
(d) Both I and II are necessary to answer

mÙkj nsus ds fy, I vkSj II nksuks a vko';d gSa
12. If  6 years are subtracted from the present age

of Arun and the remainder is divided by 18, then
the present age of his grandson Gokul is obtained.
If Gokul is 2 years younger to Madan whose age
is 5 years, then what is the age of Arun ?

;fn v#.k dh orZeku vk;q esa ls 6 o"kZ ?kVkdj 'ks"k dks
18 ls foHkkftr fd;k tk,] rks mlds iksrs xksdqy dh
orZeku vk;q çkIr gksrh gSA ;fn xksdqy enu ls 2 o"kZ NksVk
gS ftldh vk;q 5 o"kZ gS] rks v#.k dh vk;q fdruh gS\
(a) 72 years (b) 54 years
(c) 60 years (d) 47 years

13. I was married 10 years ago my wife is the 6th
member of the family. Today my father died
and a baby born to me.The average age of my
family during my marriage was same as today.
What is the age of Father when he died ?

esjh 'kknh 10 lky igys gqbZ Fkh esjh iRuh ifjokj dh NBh
lnL; gSA vkt esjs firk dh e`R;q gks xbZ vkSj esjs ,d cPps
dk tUe gqvkA esjh 'kknh ds nkSjku esjs ifjokj dh vkSlr
vk;q ftruh Fkh vkt Hkh mruh gh gSA firk dh e`R;q ds
le; mudh vk;q D;k Fkh\
(a) 50 yrs (b) 60 yrs

(c) 70 yrs (d) 65 yrs

14. Raju got married 8years ago. His present age

is 
6

5
 times his age at the time of his marriage

Raju's sister was 10 years younger to him at
the time of his marriage. The present age of
Raju's sister is  ?

jktw dh 'kknh 8 lky igys gqbZ FkhA mldh orZeku vk;q

mlds fookg ds le; dh vk;q dk 
6

5
 xquk gS jktw dh

cgu mldh 'kknh ds le; mlls 10 o"kZ NksVh FkhA jktw dh
cgu dh orZeku vk;q fdruh gS\
(a) 30 (b) 32

(c) 38 (d) None

15. Six years ago Anita was P times as old as Ben
was. If Anita is now 17 years old, how old is
Ben now in terms of P ?

N% o"kZ igys vuhrk dh vk;q csu dh vk;q dh P xquh FkhA
;fn vuhrk vHkh 17 o"kZ dh gS] rks P ds lanHkZ esa csu dh
vk;q fdruh gS\

(a)
11

P + 6
(b)

P

11+ 6

(c)
17 – P

6
(d)

11+ 6P

11

16. The age of a person is thrice the total ages of
his 2 daughters. 0.5 decades hence, his age
will be twice of the total ages of his daughters.
Then what is the father's current age?

,d O;fÙkQ dh vk;q mldh 2 iqf=k;ksa dh dqy vk;q dh rhu
xquh gSA 0-5 n'kd ckn] mldh vk;q mldh iqf=k;ksa dh dqy
vk;q dh nksxquh gks tk,xhA rks firk dh orZeku vk;q D;k gS\
(a) 35 years (b) 40 years

(c) 45 years (d) 47 years

17. Ten years ago, Karan was thrice as old as Shiva
was but 10 years hence, he will be twice as
old. Find Shiva's present age ?
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Problems on Age

nl o"kZ igys] dj.k dh vk;q f'ko dh vk;q dh rhu xquh
Fkh] ysfdu 10 o"kZ ckn] og nksxquh vk;q dk gksxkA f'ko
dh orZeku vk;q Kkr dhft;s\
(a) 70 years (b) 30 years

(c) 60 years (d) 40 years

18. The average age of a couple is 24 years when
they were married five years ago but now the
average age of the husband, wife and child is
20 years (the child was born during the interval).
What is the present age of the child ?

ik¡p o"kZ iwoZ fookg ds le; ,d naifÙk dh vkSlr vk;q
24 o"kZ gS ysfdu vc ifr] iRuh vkSj cPps dh vkSlr vk;q
20 o"kZ gS (varjky ds nkSjku cPps dk tUe gqvk)A cPps
dh orZeku vk;q D;k gS\
(a) 2 yrs (b) 4 yrs

(c) 3 yrs (d) 5 yrs

19. A woman says, "If you reverse my own age,
the figures represent my husband's age. He
is, of course, senior to me and the difference
between our ages is one-eleventh of their sum."
The woman's husband age is ?

,d efgyk dgrh gS] ;fn vki esjh mez dks mYVk djrs gSa] rks
vkadM+s esjs ifr dh mez dk çfrfuf/Ro djrs gSaA og fuf'pr
:i ls eq>ls ofj"B gSa vkSj gekjh mez ds chp dk varj gekjs
mez ds ;ksx dk X;kjgoka fgLlk gSA efgyk ds ifr dh mez gS\
(a) 45 (b) 24

(c) 42 (d) 54

20. A is two years older than B who is twice as
old as C. If the total of the ages of A, B and C
be 27, then how old is B ?

A, B ls nks o"kZ cM+k gS] ftldh vk;q C ls nksxquh gSA ;fn A]
B vkSj C dh dqy vk;q 27 gS] rks B dh vk;q fdruh gS\
(a) 10 yrs (b) 11 yrs

(c) 12 yrs (d) 13 yrs

21. The sum of the ages of a mother, son and
daughter is 70 yrs. If mother is thrice as old
as her son and the daughter is 5 yrs older than
her brother. How old is mother?

,d ek¡] iq=k vkSj iq=kh dh vk;q dk ;ksx 70 o"kZ gSA ;fn
ekrk dh vk;q mlds iq=k dh vk;q dh rhu xquh gS rFkk iq=kh
vius HkkbZ ls 5 o"kZ cM+h gSA ek¡ fdrus lky dh gS\

CRPF HCM 23/02/2023 (Shift - 02)

(a) 39 yrs (b) 45 yrs

(c) 42 yrs (d) 35 yrs

22. Five years ago Laurel was four years more than

four times the age of his son. Three years

hence Laurel`s age will be six years less than

thrice the age of his son. After how many years

from now will their combined age be 50 years?

ik¡p o"kZ igys ykWjsy dh vk;q mlds iq=k dh vk;q ds pkj
xqus ls pkj o"kZ vf/d FkhA rhu o"kZ ckn ykWjsy dh vk;q
mlds iq=k dh vk;q ds rhu xqus ls Ng o"kZ de gksxhA vc
ls fdrus o"kZ ckn mudh la;qÙkQ vk;q 50 o"kZ gksxh\

CRPF HCM 23/02/2023 (Shift - 03)

(a) 10 (b) 8

(c) 6 (d) 3

23. The persent age (in years) of Arun is one year

less then two times the present age (in years)

of Varun. After 5 years from now, Varun's age

will be equal to 
2

3
 of the present age of Arun.

What is the sum of the ages (in years) of Arun

and Varun after 2 years from now?

v#.k dh orZeku vk;q (o"kks± esa) o#.k dh orZeku vk;q
(o"kks± esa) ds nks xqus ls ,d o"kZ de gSA vc ls 5 o"kZ

ckn] o#.k dh vk;q v#.k dh orZeku vk;q ds 
2

3
 ds

cjkcj gksxhA vc ls 2 o"kZ ckn v#.k vkSj o#.k dh vk;q
(o"kks± esa) dk ;ksx fdruk gS\

CRPF HCM 24/02/2023 (Shift - 01)

(a) 54 (b) 50

(c) 58 (d) 52

24. The present ages of two cousins are in the

ratio of 4 : 7. After 5 years, their ages are in

the ratio of 37 : 61. The ratio of their ages

after 8 years is:

nks ppsjs Hkkb;ksa dh orZeku vk;q dk vuqikr 4 % 7 gSA 5
o"kZ ckn] mudh vk;q dk vuqikr 37 % 61 gSA 8 o"kZ ds
ckn mudh vk;q dk vuqikr gS%

CRPF HCM 28/02/2023 (Shift - 01)

(a) 8 : 5 (b) 5 : 9

(c) 5 : 8 (d) 5 : 7

1.(a) 2.(a) 3.(a) 4.(a) 5.(b) 6.(c) 7.(b) 8.(d) 9.(c) 10.(d)

11.(*) 12.(c) 13.(b) 14.(c) 15.(d) 16.(c) 17.(b) 18.(a) 19.(d) 20.(a)

21.(*) 22.(*) 23.(a) 24.(c)

ANSWER KEY
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Problems on Age

1. (a)

F R

now 4 1

+8 5 2

1  8

5  40

2  16

 
F 16

R 16




=

32 16

8 16




=

48

24
=

2

1

2. (*)

Let 'a' be the age of youngest child.

We know, Sn =  
n

2a n 1 d
2
   

50 = 
5

2
[2a + 4 × 3]

 a = 4 years.

3. (*)

A.T.Q.

F = s + s

   = 2s

 38 = 2s

 s = 19

 s – 5 = 14 year.

4. (a)

K S

–6 year 6 5

+4 year 11 10

5  10

1  2

10  20

Present age of Sagar = 20 – 4 = 16 year

5. (b)

A B C

4 7 9

A.T.Q.

(4x+7x+9x) – 24 = 56

20x = 80

x = 4

 Present ages = 16, 28, 36

6. (c)

A.T.Q.

F – A = 38 ...(1)

A – Brother = 4

Brother = A – 4

M – B = 36

M – A = 32      ...(2)

from (1) and (2)

F – M = 6 years.

7. (b)

F S

–10 years 3 1

+10 years (2 1) × 2

+ 10 years 4 2

 1  20 years.

3  60 years.

Present age of Father = 70

    Son = 30

 ratio = 70 : 30

       = 7 : 3

8. (d)

A.T.Q.

R – Q = Q – T

R + T = 2Q = 50

 Q = 25

We cannot tell the difference of R and Q by
given data.

9. (c)

M P

now 5 2

+8 years (2       1) × 3

+8 years 6 3

1  8

5  40 years.

10. (d)

         S D

Now        (5      1) × 24 Difference bill same

–5 years  (25    1) ×     4

now 120 24

–5 years 100 4

5  20

1  4

120  480

 both (a) & (b) are required to answer.

11. (b)

            D    S

          now (2  :   1) × 4

(a) –5 years 9  :   5

      now 8      4

1  5 years

4  20 years

now 2 : 1 × 2  4  2

(b) –10 years 3 : 1   3  1

1  10 years

2  20 years

 either (a) or (b) are alone sufficient to
answer.

SOLUTION
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Problems on Age

12. (c)

A.T.Q.

A 6

18


= G

 A – 6 = 18 G

 A = 18G + 6 ...(1)

also, G = 5 – 2 = 3 ...(2)

Put (2) in (1)

A = 54 + 6 = 60 years.

13. (b)

Let, S be the sum of all 6 members at the
time of marriage and a be the average at that

time. Let, F be father's age when he died.

A.T.Q.

S = 6a  ...(1)

and, 
S F 60

6

 
 = a

 6a – F + 60 = 6a (from (1))

 F = 60 years.

14. (c)

–8 years now

Raju 5 6

1  8

5  40

 6  48  present age of Raju

Also, R – S = 10

 S = 38 years.

15. (d)

Anita    Ben

Px      x

–6

(P + 6)



 x
  (x + 6)

Px + 6 = 17

x = 
11

P

Age of Ben = 
11

+ 6
P

 
  

= 
11+6P

P

16. (c)

Let, D
1
 + D

2
 = A

Father's current age = 3A years

Also, 3A + 5 = 2(A + 10)

 A = 15

 Father's current age = 45 years.

17. (b)

K S

–10 years 3 1

+ 10 years 2 1 × 2

+10 years 4 2

1  20 years

2  40 years

Present age of Shiva = 30 years.

18. (a)

A.T.Q.

H 5 W 5

2

  
 = 24

 H + W = 58 ...(1)

Also, 
H W C

3

 
 = 20

H + W + C = 60 ...(2)

Put (1) in (2)

C = 2 years.

19. (d)

Let, women's age = 10x + y

 Husband's age = 10y + x

 10y + x –(10x + y) =
1

11
(10y+x+10x+y)

9y – 9x = 
1

11
(11y + 11x) = x + y

10x = 8y

x = 
4

5
y

x = 4, y = 5

 Husband's age = 10 × 5 + 4 = 54

20. (a)

A.T.Q.

A = 2 + B and B = 2C

Also, A + B + C = 27

 2 + B + B + 
B

2
= 27

5B

2
= 25

B = 10 years.

21. (a)

A.T.Q.

M + S + D = 70

and M = 3s, D = S + 5

solving above equations, we have

3s + s + s + 5 = 70

5s = 65

s = 13 years

M = 39 years.
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22. (d)

Let, age of son be A

A.T.Q.,

L–5 = 4(A–5) + 4

L–5 = 4A–20 + 4

L–4A + 11 = 0 ...(1)

Also,

(L+3) = 3(A+3) – 6

L + 3 = 3A + 3

L = 3A  ...(2)

Put (2) in (1)

3A – 4A = –11

A = 11

L = 33

then, (L+A) + x = 50

 x = 50 – 44

x = 6

 L + 3 + A + 3 = 50

 after 3 years from now, their combined age
will be 50 years.

23. (a)
A = 2V – 1 ...(1)

V + 5 = 
2

3
A ...(2)

from (1) and (2)
A = 33, V = 17 years

 A + 2 + V + 2 = 54 years
24. (c)

A B

now 4 7 × 24
+5 years 37 61 × 3
now 96 168

+5 years 111 183
15  5 years

1  
1

3

96  32 years
168  56 years

A after 8 years = 40 years.
B after 8 years = 64 years
 required ratio = 40 : 64  = 5 : 8
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